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1. Introduction
At RAN2#46bis meeting the concept of hysteresis was discussed [1][2][3], and the e-mail discussion was held on RAN1/2 e-mail reflector after the meeting. The e-mail discussion is summarized in [4] and the open items are clarified. In this document, we present our proposals on the open items.

2. Discussion
We discuss the open items listed in [4] below.

Appling of multiple DOWN from one non-serving RLS

Open items:

· Necessity of a hysteresis for multiple DOWN commands from the same non-serving RLS.

· Fixed Step size of relative grants from non-serving RLS
Discussion:

We think that a hysteresis is necessary even for the case of multiple DOWN commands from one non-serving RLS. Otherwise, applying of the multiple DOWN commands is depending on the timing relation between the other non-serving RLSs as shown in the examples of the annex. If we introduce the hysteresis method also for multiple DOWN commands from one non-serving RLS, the unfairness does not occur. Additionally, we think DOWN commands from non-serving RLSs should be send in a very cautious manner, then NodeB should monitor the effect of previous DOWN command before sending next DOWN command. In this case, UE should not apply multiple DOWN commands from one non-serving RLS; hence the hysteresis is needed.

Regarding the step size of relative grants from non-serving RLS, we think, that a fixed step size of 1dB is sufficient. In our view 1dB which corresponds to 20% reduction of the power offset is a fairly reasonable value. We think DOWN command from non-serving RLSs impact to UEs who are scheduled by the other NodeB, and it should be used in a very cautious manner.
Proposals:

· The hysteresis should be also applied to multiple DOWN commands from the one non-serving RLS.

· Fixed step size of 1dB for relative grants from non-serving RLS .

Values for hysteresis length

Open items:

· Hysterisis length is either “20ms for 2msTTI and 40ms for 10msTTI” or “40ms for both 2ms/10msTTI UEs”.

Discussion:

Initially we proposed to use a 20ms hysteresis length for the 2msTTI case and 40ms for the 10msTTI case in [3]. But we agree with the concerns on the unfairness in the mixed case of 2msTTI UEs and 10msTTI UEs, expressed by Siemens. In addition, we think the cautious usage of an overload indicator from a non-serving RLS is better. Therefore we propose a fixed hysteresis length of 40ms for 2ms and 10msTTI .

Proposals:

· Hysteresislength is 40ms for 2ms and 10msTTI.

3. Conclusions

According to the above discussion, we propose following.

· The hysteresis should be also applied to multiple DOWN commands from the one non-serving RLS.

· Fixed step size of 1dB for relative grants from non-serving RLS.

· Hysteresis length is 40ms for 2ms and 10msTTI.

4. Text proposal

Text proposal to “25309 after RAN2#46bis DRAFT v4” [5] is below.

9.2.2
Grants from the Non-serving RLS

Node-B from the Non-serving E-DCH RLS will only send Relative Grants to the UE. The UE shall handle the RG from the Non-serving E-DCH RLS as follows:

-
When the UE receives a “DOWN” from at least one Non-serving E-DCH RLS:

-
New SG = Last used power ratio – Delta;

-
The Delta is 1dB;

-
The option to use a calculated offset is FFS (e.g. the offset may be function of the measured CPICH power on the overloaded cells in relation to the measured CPICH power on the serving cell);
-
When the UE receives a “DOWN” from a Non-serving E-DCH RLS, a hysteresis is applied. During the duration of the hysteresis period, the UE ignores “DOWN” commands from all non-serving RLSs. The length of the hysteresis is 40ms for both 2ms TTI and 10ms TTI;

-
When the UE does not receive a “DOWN” from any Non-serving E-DCH RLSs;

-
The UE shall follow the Serving E-DCH RLS’s Scheduling Grants.
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Annex

Figure 1 shows an example of the unfairness between UEs in 10msTTI when the hysteresis is not applied to multiple DOWN commands from one non-serving RLS. In case of the UE#1, only one DOWN command is applied, because the DOWN command from the non-serving RLS#1 is earlier than the first DOWN command from non-serving RLS#2. In case of the UE#2, four DOWN commands are applied, because the first DOWN command from the non-serving RLS#2 is earlier than the DOWN command from the non-serving RLS#3.
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Figure 1  Example of the unfairness







